

Page 1 of 8

Contract ID: 21437 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) CONSOLIDA ALUMINUM FEI		(2) IEW CON			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	6,257.00000	6,257.00	4,000.00000	4,000.00		
	RMANCE BOND AND NT BOND	DOLL						
0002	152015P	1.000	0.01000	0.01	2,500.00000	2,500.00		
POLLUT	TION LIABILITY INSUF	RANCE DOLL						
0003	MMB091M	100,000.000	1.00000	100,000.00	1.00000	100,000.00		
	ACCOUNT, LABOR, IENT AND MATERIAL	DOLL S						
0004	MMR006M	10.000	1,000.00000	10,000.00	1,000.00000	10,000.00		
EMERGI	ENCY MOBILIZATION	U U						
0005	MMG018M	850.000	1.00000	850.00	1.00000	850.00		
FIELD O	FFICE EQUIPMENT	DOLL						



Page 2 of 8

Contract ID: 21437 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDATED STEEL & ALUMINUM FENCE CO., INC.		(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0006 605009P	2,000.000	58.00000	116,000.00	78.19000	156,380.00		
CHAIN-LINK FENCE, ALUN COATED STEEL, 6' HIGH	MINUM- LF						
0007 605027P	1,500.000	62.00000	93,000.00	81.38000	122,070.00		
CHAIN-LINK FENCE, PVC- STEEL, 6' HIGH	COATED LF						
0008 605060M	5.000	0.01000	0.05	0.01000	0.05		
GATE, CHAIN-LINK FENCE ALUMINUM COATED STEE WIDE							
0009 605066M	5.000	0.01000	0.05	0.01000	0.05		
GATE, CHAIN-LINK FENCE ALUMINUM COATED STEE WIDE							



Page 3 of 8

Contract ID: 21437 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Line No / Item ID Item Description	(1) CONSOLIDA ALUMINUM FE		(2) IEW CONS GROUP				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0010 605069M	5.000	0.01000	0.05	0.01000	0.05		
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE							
0011 605072M	5.000	0.01000	0.05	0.01000	0.05		
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE							
0012 605081M	5.000	0.01000	0.05	0.01000	0.05		
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE							
0013 605099M	5.000	0.01000	0.05	0.01000	0.05		
GATE, CHAIN-LINK FENCE, COATED STEEL, 4' WIDE	PVC- U						



Page 4 of 8

Contract ID: 21437 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Line No / Item ID Item Description				1) CONSOLIDATED STEEL & ALUMINUM FENCE CO., INC.		(2) IEW CONSTRUCTION GROUP, INC.		
Alt Set / A	alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0014 6	05105M	5.000	0.01000	0.05	0.01000	0.05		
	IN-LINK FENCE, PVC EEL, 8' WIDE	- U						
0015 6	05108M	5.000	0.01000	0.05	0.01000	0.05		
,	IN-LINK FENCE, PVC TEEL, 10' WIDE	- U						
0016 6	05111M	5.000	0.01000	0.05	0.01000	0.05		
	IN-LINK FENCE, PVC EEL, 12' WIDE	- U						
0017 6	05120M	5.000	0.01000	0.05	0.01000	0.05		
	IN-LINK FENCE, PVC TEEL, 16' WIDE	- U						
0018 6	05174M	2,000.000	50.00000	100,000.00	76.16000	152,320.00		
REPAIRING	CHAIN-LINK FENCE	LF						



Page 5 of 8

Contract ID: 21437 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Line No / Item Desc			(1) CONSOLIDA ALUMINUM FEI		(2) IEW CON GROUI			
Alt Set / A	Alt Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0019 6	605212P	1,000.000	50.00000	50,000.00	66.42000	66,420.00		
RESET FEN	ICE	LF						
0020 6	605212P	500.000	145.00000	72,500.00	149.57000	74,785.00		
RESET FEN MOUNTED	ICE (BARRIER CURB FENCE)	LF						
0021 6	605175M	200.000	145.00000	29,000.00	149.57000	29,914.00		
BARRIER C	URB MOUNTED FENCE	E LF						
0022 6	605152M	2.000	1,600.00000	3,200.00	1,500.00000	3,000.00		
SLIDING GA 12' WIDE	ATE, SECURITY FENCE	Ξ, U						
0023 8	302003M	50.000	25.00000	1,250.00	25.00000	1,250.00		
TRIMMING I 6" TO 12" DI	EXISTING TREE, OVER IAMETER	R U						



Page 6 of 8

Contract ID: 21437 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Line No / Item Des				(1) CONSOLIDA ALUMINUM FEI		(2) IEW CONS GROUP			
Alt Set /	Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0001	ROA	ADWAY		Cat Al	Set:	Cat A	It Member:	
0024	802006M		5.000	25.00000	125.00	25.00000	125.00		
	EXISTING TREE, DIAMETER	OVER	U						
0025	802009M		5.000	25.00000	125.00	25.00000	125.00		
	EXISTING TREE, DIAMETER	OVER	U						
0026	802012M		5.000	25.00000	125.00	25.00000	125.00		
	EXISTING TREE, DIAMETER	OVER	U						
0027	802015M		5.000	25.00000	125.00	25.00000	125.00		
	EXISTING TREE, DIAMETER	OVER	U						



Page 7 of 8

Contract ID: 21437 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Line No / Item ID Item Description				PATED STEEL & (2) IEW CONSTRUCTION GROUP, INC.				
Alt Set / Alt Mem	ber Quantit	y and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	RC	DADWAY		Cat Al	t Set:	Cat A	It Member:	
0028 802018M		5.000	25.00000	125.00	25.00000	125.00		
TRIMMING EXISTIN 36" DIAMETER	IG TREE, OVER	U						
0029 802021M	I	50.000	50.00000	2,500.00	50.00000	2,500.00		
TREE REMOVAL, O	VER 6" TO 12"	U						
0030 802024N	I	5.000	100.00000	500.00	50.00000	250.00		
TREE REMOVAL, O	VER 12" TO 18"	U						
0031 802027N	I	5.000	500.00000	2,500.00	50.00000	250.00		
TREE REMOVAL, O	VER 18" TO 24"	U						



Contract ID: 21437

Tabulation of Bids Page 8 of 8

Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: February 09, 2021 District(s): C4

Call Order: 437 Project(s): STATE

Contract Time: 06/30/22 COMPLETION DATE Min: Max:

Contract Description: Maintenance Fence Repair Contract, Central - 2021

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FEI		(2) IEW CONS GROUP			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY	Cat Alt Set:		: Set:	Set: Cat Al		
0032 802030M	5.000	1,250.00000	6,250.00	50.00000	250.00		
TREE REMOVAL, OVER 24 DIAMETER	" TO 30" U						
0033 802033M	5.000	1,800.00000	9,000.00	50.00000	250.00		
TREE REMOVAL, OVER 30 DIAMETER	" TO 36" U						
0034 802036M	5.000	2,200.00000	11,000.00	50.00000	250.00		
TREE REMOVAL, OVER 36 DIAMETER	" U						
Section Totals:			\$614,432.51		\$727,864.50		
Co	ontract Totals		\$614,432.51		\$727,864.50		
Cost	Plus Time Totals		\$614,432.51		\$727,864.50		

() indicates item is bid as Lump Sum

Page:



437

Call Order:

Vendor Ranking

Contract ID: 21437 Counties: HUNTERDON,

MERCER, MIDDLESEX, MONMOUTH,

OCEAN, SOMERSET,

WARREN

Letting Date: February 09, 2021 10:00 AM District(s): C4

Contract Time: 06/30/22 COMPLETION DATE

Contract Description: Maintenance Fence Repair Contract, Central - 2021 Project(s): STATE

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	C6437	CONSOLIDATED STEEL & ALUMINUM FENCE CO., INC.	\$614,432.51	100.00%
2	12943	IEW CONSTRUCTION GROUP, INC.	\$727,864.50	118.46%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.